
n
a

ch DIN EN 13241
-1

  Zert i f iz ierung

RT
V. 01.11.2013-UK





!

Check visually.

Mark off.

Use a drilling machine.

Use an open-end spanner. 

Read the technical information. 

Tighten with hand power. 

Use a forklift truck. 

Use a ratchet wrench.

Beware! Work accurate!

Use side-cutting nippers.

Use scissors.

Use a screw driver. 

Caution! Voltage!

Introduction: Important mounting instructions!
• Explanation mounting and safety symbols

Installation manual. 



130516-01-001

RT

! !

F

H1

G

CA

J

EB D

TYP 7.5

Max. 530 kg

TYP 7.1

Max. 300 kg

TYP 9

Max. 1330 kg

E Clear Width
Upper side motor support
Clear Heigth
Upper side bearing support

F
G
J

Subfloor

TYP ARK30

Concrete floor

A

B

C

D

E

F

G

H

I

J
ANROLL

NORMAL



130516-01-002

RT >5m

! !

2

1

3
3x .... Nm 

2

1

3
3x .... Nm 

Option 

50 mm

65

4



130516-01-003

RT >5m

2

1

3
4x .... Nm

! !

Option

2

1

3
3x .... Nm

50 mm

65

4



130516-01-004

RT 

A

B



130516-01-004

RT 

A

B

130516-01-005

RT 



130516-01-006

RT 

!

!

!

1

1

2

2

==



130516-01-006

RT 

!

!

!

1

1

2

2

== ==

!

!

!

1

1

4

4

2

3

3

130516-01-007

RT 



130516-01-008

RT 

2

2

3

3

3
3

= =

A

A

2x
M12 x 1,75
M16 x 2,0

93 Nm
230 Nm

2x
M12 x 1,75
M16 x 2,0

93 Nm
230 Nm

!



1

1

2

3

4

130516-01-009

RT 



130516-01-010

RT 

1

1

2

2

!

!



130516-01-010

RT 

1

1

2

2

!

!

130516-01-011

RT 

12
50

 m
m

m
ax

50
0 

m
m

2x

1

2     

1 2

3

Pos: 1.2 /BA_Module_Manuell/Torsteuerung TS971/01_Deckblatt_00000 @ 1\mod_1291108378991_6.docx @ 589994 @  @ 1 

 

de 

 

 

Montageanleitung 

Torsteuerung 

TS 971 51171518_a_01.2012 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

Stand: 13.01.2012 

Pos: 1.3 /BA_Module_Manuell/Torsteuerung TS971/MAL_Seitenumbruch @ 1\mod_1291106975730_0.docx @ 589980 @  @ 1 



RT 

130516-01-012

5

3

3a

Option I

Option I

Option II

2

4

Option II

4

5

6

7

23

3b

MOTDES/NES

4 5

1

1

3
2x



RT 

130516-01-012

5

3

3a

Option I

Option I

Option II

2

4

Option II

4

5

6

7

23

3b

MOTDES/NES

4 5

1

1

3
2x

130516-01-013

RT 

2

2

1

> 6 m



130516-01-014

RT 

2

2

3
3

3

3

3

3

3

B

1

1

A

Ca. 
15 mm 

B
Ca.

15 mm

A

3

3

3

3

3

3

2

STOP !



130516-01-014

RT 

2

2

3
3

3

3

3

3

3

B

1

1

A

Ca. 
15 mm 

B
Ca.

15 mm

A

3

3

3

3

3

3

2

STOP !

130516-01-015

RT 

1

1

1



130516-01-016

RT 

2

2

1

1

!



130516-01-017

RT 

1

1

2

1

2



130516-01-018

RT 

!



130516-01-019

TS971

1

4 5 6

7 8

3 sec

3 sec

2 3





130516-01-020

TS971



130516-01-021

2

1

1

2

1

2

3

=

=



130516-01-022

4 5

76





130516-01-025

TS971



130516-01-026

FRABA

L
R

1

IR

L+R

2

1

2

L+R

IR

ST3

ST3

3



130516-01-027

TS971

Activate teach modus

Programm orders

3 sec

2 3

1x

4

5 6

1x

7

10 sec

1

1x

P1

2 3 4

5

1x

6 7

IR1L+R

2

Lithium 3.6 V

1



130516-01-023

RT

DISASSEMBLY AND DISPOSAL

The disassembly of the gate unit occurs according to the assembly instructions in reverse order!

 The system is to be de-energised for electrical work!
 The components are to be guarded against falling over!

For proper disposal and/or contribution for recycling, the separation of 

 • metals
 • plastics
 • fillings
 • electrical components
 • lubricants

is to be ensured, whereupon further notices from component suppliers are to be taken into 
consideration.



M
H

-R
T_

15
04

16
-0

1_
V.

 2
1.

04
.2

01
5_

G
B




